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x% 4+ y% = 12(10) + 72 + 30 = 40
nx2+y? =58
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Z0]7} 18cm & W, AABH ©] E¥|9] Lo Fatolet,

A

=
[=
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> &= 40cm?

AABC 94 BC = v22 + 62 = 210 (cm)
wr2tbA, oBEGC += § ¥9] Fo]7t 2 V10 em Q1 A @ ol B=

OBEGC = (2VI0)" =40 (cem?)




18. 3 194 aAABC = ACDE ©|2L Al # B, C, D = 4&4 el
9lt}. AB = 6cm ©]1, ACDE 9] Ho]7} 24 & ujj, Althe]ZE ABDE
o] E¢¢] dol&?
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A
B C D
@28+10\/§ @ 12+8V3+10V2
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® 10+ 8vV2+ V21

~&B ~

AABC = ACDE °]E& AB = CD, BC = DE o]t}
ACDE 9] §o]7} 24 o]B&2

ACDE:%.C—D.ﬁZ%.G.ﬁzm
~DE=8

AB=CD=6, BC=DE=28
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WDEE AAez AAACAAR A
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AEBC 7} A4 2130l B
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(8-x)2=x+6%x= T el
AABC7H A7 g0l ER

AC =82 +62, AC = 10°|th.
AADE 7} 212H37t ol B2
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15 75

AEDC 9] ylo]= %x5x 155 o],
1 7 21
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AEBC 9] 4 ],_2><4><6 i =3
e 7521 117
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21. o3 2"} Fo] A4 ABC 9] =0
AD £ 3 o & ot F4H7

wol7b 12V3em? &
-5HH?

@ 12V3cem? @16\@cm2

® 16 V2 cm? @ 126 cm?

® 12V2cm?

B

VAD = hem 2 SHH,

AADE 9] Blo]= ‘/Tgxhz — 123

whebA], h =43
AABC 9] St & x (em) 2 FH,

‘/;xzwﬁouﬂ_ix:s

. AABC = \/T§ x 82 = 16 V3 (cm?) °]T}.
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0 A45 [T
A 400"B I
@ AB = 400, 1A = 30°, /CBH = 45°
© CHLAH
@ 50(V3+1) @ 100(V3 +1) @200(«/§+ 1)

@ 300(V3+1) ® 350(V3+1)

B

CH = x2} 511 BH = x
ACHOA CH: AH=1: V3
x:(4004+x) =1: V3
400 4 x = V3x

(V3 = 1)x =400
x=200(V3+1)
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=
QA AEHA A M, N 2 77 BA
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C
BF. DH | Z80lt}. of o, 1] 4 A, M. C. A
N & A2 o]0l 4] A7l g o] Yol s W{
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F-stofet. . '
@ 50 V2 cm? @ 50 V3 cm? F

® 100 cm? @ 505 cm?
©)50 V6 em?

B

(vFER ] Hol) = (HZHA) x (H2HAD)

- I

102 + 102 + 102 = 10 V3 (cm)
MN = V102 + 102 = 10 V2 (cm)

wrabd 10 V3 x 10\/§X%=50\/6(cm2) oJtt.




25. o3 O} go] W] vix]E o] ZHo|rt
6cm, ZA0] Zo]7t 10cm Q1 F&of| Y5t
= 77t ot o] o] ¥tz F o] dol&?

D)3cm @ 45cm ® 15cm
4
@ 15v3cm ® 1—zcm

B ~

AO = V10> -62 =38

e 7o 9259 2olE x2t 7
OP = x = HP, AP = 8- x o]t}

AAHP O AAOB ©|E2 (- /HAPE E)
AP :AB=HP:BO

8—x:10=x:6

x =3 (cm)
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o7} 3 9l Qmolct. Aol AL whe} mA

OA o] T30l o]2& g7 E Fstofet,

\VARR 4
0
L

6V5
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o] APlA 27 x 12X —— =
27 X 3 360
x=90°

AOMA o] A MA =
V62 +122 =65
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> ®eh: 1014
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] 2P ABE HIHOZ 51= AABC oA AB=¢, BC=a
2} shAt,

(2, a, c = AAolth)

=392 +a% 2 -a®=39°

(c—a)(c+a)=3%x132

94| AABC 2] Hol, & AABC = %xax39 7} 227} e

a ] gtol &7} =|ojof gttt
W2t c+a > c—a Q1 BE AR (c+a, c—a) B UEH O]
Hd
(c+a, c—a)= (132, 3%), (132 x3, 3),
(13x 32, 13), (132 x 32, 1)
ojuf, a o] Fto] H a7} Hl= F =
c+a=13%x3% c—a=13 °|t}.
S a=52, c =065
u2tA AABC 9] Blo]9] &gk
% X 52 x 39 = 1014 o[},




28. thg 139 2719 ABCDE °|A /C = G
/D =120°, /E = 90°,
AB=BC=CD=DE=8 AE=8+v3¢ D
o, 279 ABCDE 9] {ol& Fsfofzt.

[l
=

| 2
> =l 803

~&B

BC = ED, £C = (D °|2& oBCDE
+ SHAITHEo|
3 C, D 9|4 BE °f U™ 49 &

2zt p, Q =t shd

BP - 150 o120 - 2BC

ABCD o4 BD = AE = 8v3 ,
/CDB=30°°|17, AB=BC=CD=DE =80°|2&
.'.ﬁ:%x8=4,ﬁ:73x8:4\/§

~BE=BP+PQ+QE=4+8+4=16
wtatA @7+ ABCDE 9] Wol= 424 ABE 9] Yot 54
Abth2]Z BCDE 9 Y ol9] gholtt,

1 1
.'.AABE+DBCDE:§X8X8\/§—I—§

X (16 + 8) x 4 V3
=803
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